FROITHIAILER 2E TR 1R (K =29 -2 -F g (REERR

R iE]
¥E HiE PHE FE Kz B #E& HE PE TE Ks 8%
el AN Y 1.2 S —= N feEh¥E 13.7 — —+ -
k5 - - - - N2y £ 46 1103 1019 998 10 L
5 & 6.1 94§ - R93 10A L HE = A 0.0 1155 1092 1082 10 ¥ay L
BB K 40 945 785 704 10 v 8 HEY BLXIN 0.8 N — 2
A LA 15,0 — — A B B 0.1 - 83 - .1 By
E 10.6 1260 1260 1050 10 ¥ya) M @S FL 0.9 A N -
' OB 4.4 - 1575 - 108 M £ & 0.8 L6 74 4T .1A L
IES 42 S & S & 5 63 32 32 .1B LWL
5 & - - - - N2y - 137 105 63 .Lb M
BRE 2.7 2100 - 1785 10A M ZDEEY L2 —~ — —
e Ewy 2.1 = — — £ ® .0 32 23 23 .1
B ¥ 12.1 1365 840 735 154 L H/E LHL .7 2 S -
TESR 64 AN a3 & 5 0.0 3 21 21 .1 SR
B M 0.4 74 68 58 .24 M BB LS 8 26 24 .14 M BA
F Y 1283 A ~ — , EF R 149, 7
& % 4.0 578 420 420 10 ¥3% 8
B oE 8.0 - 630 . - 10¥2f M
£ X 0.1 - 630 - 10 L byF HE BE PE RE Ke B
FYFR—n 36 — = A B A BAR L1 :
£ B 1.6 945 - 840 10 L9 NDRBMBAL LI = 8N
BB 1.5 630 - 578 10A 9 » £ OB 0.5 2835 - 2625 § wval
#2345 09 — — — £ 3675 - 3360 5 Ty
= A - - - - 1% £ B 3675 - 3360 5 <3S
T 6.6 95 95 83 .2 ¥vadL HiaokHmAa 03 A A &
B A& 0.1 - 2625 - 5y M £ &% 0.2 525 - 420 10 ¥at L
& L3 —» — - &V 0.4 A - —
£ 1.2 945 B840 735 3 A M A& omE 0.2 - 4085 - 16 115
# R 0.1 735 - 704 3t M gh¥ TnE 3885 - 2625 16 140
Th¥ 0.6 A S A R 7 0.2 —- — H
& 5 0.1 S -.054 M TAYD 0.2 3045 - 2835 16 72
B M 0.4 84 - T4 Ll YS M L7y 6.8 SN & —
HOE R VIR I TNE 0.5 2940 2730 893 16 36
= 0.0 735 - 630 1 D ATE -
2 ® 0.1 525 - 420154 L 72 LBt 0.2
b s 2 S & =k 0.2 — — —
B 0.2 2 2 21 .14 M = B 0.2 - 2100 - 5 A8 DR
Y- 0.8 —» 2 = L 20 & —~ 2
& ¥ 0.8 3570 3150 2940 104 LL & N 1.7 1575 - 1470 4 t)val6 MEE
TARTHZE 0.5 N — N F N - 1418 - 4 [l S
£ W 0.5 - T4 - 1B A Tt &’ 0.3 1628 - 1875 4 ¥y 1z HHBE
Joyaly— 07T A - N = K 1491 - 315 4¥5 14 BHIBE
ZOME 0.3 2940 2940 2730 84 38 & 0.1 - 105 - .3 7haL HBME
v A 12.5 =N & - 137 - .3 Theall HEBEME
E ¥ 12.5 1302 945 683 104 16 THe 0.9 J S —
Y=Z—UFR 08 — — — KA 0.4 - 221 - 5¥f 3 FTA
E % 0.8 630 525 420 44 L £ B 0.2 189 - 179 45 VAT A
FlLFHAL 04 N AN B3&3 0.4 S N R
BE R - - - - puz’  # 0.3 - - - ber”
B | 0.2 525 - 420 2 oA LL K¥ 58 1.2
Y 7.4 /2 = Z FIxT 0.5 &5 — —
- 6.2 1155 735 630 54 M EfE 0.7 N AN
O 0.7 99 - 945 5 n £ & 0.3 273 273 215 .3 7k N R
»Eb e 59 X = A x &K 0.2 315 252 242 .3 dwya DR
£ 5 5.9 1260 - 1229 10A & WHLEL 0.0 J — -
ke 25 = S J £ - - - - bz
& o .2 - 840 - S¥ar L At 6.0
R K .2 945 840 788 5 L 7 LA 0.2 J %9 %
k= b 7.9 A N 2 B og - - - - 7S
& b 4.0 630 315 315 42w L Fh3 .5 — — —
ek 2.5 - 840 - 4130 F & 1.5 1575 1281 1281 5 2 LA
izp< b Lo S J N FoMAny 36 N B A .
£ 0.7 74 63 8 .24 M £ % 2.4 1418 1385 1185 5 Fawadl
X & 0.t 126 126 91 .24 L dLigE 0.6 - 2835 - gy Kb
- 20 N N A FevhE 23.7
B ¢4 50 3T 32.154 L Fde 133 = 2 2
X & 1.1 840 630 630 4 ¥27 3L £ W 12.9 1680 1449 1449 10 ¥27 M
o h 0.5 — — — IEFETOH 1.3 0N N
= 0.2 - 525 - 3L vAY £ B 10.3 1155 1155 945 10 ¥a7 LL
RE A - 0.3 1628 - 1575 T vat 24 LA A5 T - — —
ERLTFA 01 B AP TOHE 4.9 2730 2205 2100 13 18
£ 0.1 - 53 - 1A M N 1.5 2730 1943 1733 12 4
ALk 31 0N A =y TF 0.6 2363 2048 1943 10 A
= 2.1 1260 1260 1155 5 A L HNeFo7nr L5 —- A Y
BERE . 0.6 630 473 473 S5A L T OE 1.5 1890 1418 1365 10 7
EhoLx 0.2 N A & BERE 48.7
£ B (0.2 1733 - 1575 104 L
Epiny 0.4 N - —
BRRE 0.3 578 - 525 14 LW =\
T 0.1 189 - 188 .51 L |
At 4 /A = —
5 & 1.5 2940 - 283 108 4L
AeHEE 2.0 -

2835 - 104 LU



